Math II
Chapter 4 Review

1. What is the vertex of f(x) =2(x + 3)? + 57
53,5
2. What are the x-intercepts of f{(x) =-2(x + 5)(x - 3)?
(-5,0) (32,0)

3. Given f(x) = ax? + bx + ¢, what does the x = -b/2a
represent? Could it be more than one thing?

5 - g™y
axis of %:.-%m“\*‘;*“:;

¥-yalwe of veritex
4. Factor the following equations completely.

a. 2x3-16x2+ 24x
2x (x % gx +12)

2x (x-Yx-2)
b 12x2+19x - 18
(3% = 2YHx+9Q)

c. x2-13x+30

( X =10 x-3)

d. 4n2-49
(Zn+1)2n —‘7)

e. 2x2+7x-15

(2% = 23X X + 8O

f. 612 +23t+20
(3¢ + yXzt + 5)

g 4x2-16x

Hx (x-4)

Name  Key

Date / Period

5. How do you convert a quadratic equation that is given

in intercept form to standard form?

‘(‘r“‘st,dhplu:j i+ oust

6. How do you convert a quadratic equation that is given in

standard form to vertex form?

Use oxie of SU w.r’*le:_'i:‘fiﬁ &

Comp \ete +he (‘,{15,1&‘5!‘:1
7. Solve 3(m - 4)*=24
2 S

(- = 8
W= y

M= Y
8. Solve (x+2)2; 1§=|3?_6

4

Va
AR

(x+2) =48
Xt2z= t4g
X=-2*r4V3
9. Solve 5(x-22+40=0
5(x-25"= -40
(x-2)%= -8
x-2 =+ /"8
X=21 2.)'\/’2‘:
10. Solve the following equations.
a x>+ 12x-45=90
(x +18A X~ 3)=0
X=-i5 X=3
b. 2w2+ 13w -7=0
(2w - 1YW+ 7)) =0

WJ = ‘/2,, w=-7]
c. 10y2+1ly-6=0



11. Write the equation y = 2x2 + 12x + 5 in vertex form.
y=a(x-hR+k Y= =\

L)
= 2 2'_
\j (X +3) > lj=2(*371+12(-3)+5

Y= -13

12. Write the quadratic function that has a vertex at
(2, 7) and passes through (4, 2).

Y= a (%-23+7 2=a(4-D"+7
~5 & Y
0= -5y

=5

Y= “dfj(— (x-2)+7

13. Write the quadratic function that has a vertex at
(-3,-2) and passes through (1, -10)

B= a (x+3)-2

Y= Vo (x ey

~=a (1+3Y -2
8= lba
a,ﬂ‘\lz_

14. Write the equation of a parabola that has X-intercepts
of -3 and 2 and passes through the point (3, 12)

Y= a (X +3)x-2) 2= a (2+3)(>2)

) 2= a6y
Y=2 (x+2)(x-2) s 2 T,
A=

15. Write the equation of a parabola that has X-intercepts
of -7 and -3 and passes through the point (-1, 12)

lz=a (- \+7)-1+2)
122 a (L))
12 = 12a

0=

16. Use the discriminant to describe the types of
solutions for the equation -3x2 - 3x + 9= -4x + 1.

Ty -l 4% -

Y=o (xex+3)

Y= (x SN X+3)

Bylixrgzo
N Poé.‘-ﬁf
(D) -4C2DUp)y=97 « 2 Real Sol.

17. Solve: 5x2+ 11 =14
=1 =

Sx*= 2
X% 2

S 7z
_ _ +t\15
Xe X 3/5 = o M=

A=

18. y=2x2+12x + 15

r

2 .
2(D

y= 230 12-3) 415
g

2. -3

Graph the following quadratics: (show work)

a) Graph

(-3,-3)

b) vertex: { , )

i

i

=2

c) axis of symmetry: x =

d) x-intercept:(exact value)

XK= =12t NOY>-4 (DU

202

—

b —I'Li\rz_q: _{Dj__\h;-

2

\‘(

e) y-intercept:

(0,15)

f) domain: R

g) range: E3,ao)

d h) increasing and decreasing

i i

1(2)
3029
CYE

F 3

2
= e
=10

A

19. y=-(x-3)2+8

decrease

i) end behavior X < -0g £ (-2 oo
(Fo0,-3) X2 00 £exV> 00
increase (-3, o)

a) Graph

 (3.8)

c) axis of symmetry: x= 3

b) vertex: ( ,

d) x-intercept:(exact value)
O = - (X=2)%*43
"= -(x-2)

Increase (- 02,3)
decrease (3,00)

20 y=(x+6)(x-2)
ys= (-2t6))-2-2)

: ; X-2ztVd X= 31—;”2
g e) y-intercept: CD,'I')

f) domain: TP

g) range: C... oo 8:]

h) increasing and decreasing

i} end behavior

X -g0 ¢ OO>-9°
X2@o £ (x)> -°

a) Graph

(-2,"l)

b) vertex: ( , )

c) axis of symmetry: x= - 2

d) x-intercept:(exact value)

(0D (z2,0)

ﬂ_;- .

e) y-intercept:

(0,-12)

v

Y= (o +eMo-2)

=-1

f) domain:

[-lb, o0)

g) range:

Y

h) increasing and decreasing

-

i) end behavior

(-2,-16)

*3-00 £ XY o0

decrense (-92,-2)
\Nerease (-2, a0)



21. Solve for x three times: by factoring completely, by completing the square and by the quadratic formula

x2-10x+16=0

Factoring completing the square quadratic formula
- -2 P=0 loxt— =-)4 +
[x -8) x-2) X et | x- roi\)mm“-qmm}
X=§ X=2 XT- 10X 425 = -|4 +25 e —
2 (1)
( X 53?‘ = ‘:%’
Y= [0X Ef;
X-5 = tyJ9q S
=5t - :
Xz5¢t3 X=lotb Ly
2. 2 T2
X = 8 2 e
/ C x=38,2>
22. Solve for x three times: by factoring completely, by completing the square, and by the quadratic formula
' 2x2+8x-10=10
Factoring completing the square quadratic formula
2 = ] S
2 (x+s)Mx-D=0 2 2(2)
Z(x%4yx+ Y )=10t8_
X=-5 X= \ P
X= -81
2(x+72) . 18 ‘M_
N T
(X+2) "= q
. 81z
; X =
Xy2 =1 [a “
X=-21t72 "4 e 20
4 K
XK= ] &an—-§



23. If a toy rocket is launched vertically upward from ground level with an initial velocity of 128 feet per

second, then its height / after ¢ seconds is given by the equation h(t) = -16f + 128 (if air resistance is
neglected).

2z
a. How long will it take for the rocket to return to the ground? 0 =-1bt +\28t

s seconds 0= -tk (D)
t=0 L= 9
b. After how many seconds will the rocket be 112 feet above the ground?
o 2
| o0 7 secomds 1“2'_ bt *t128¢
let™=12g++ W12 = W (e -at+D=0
c. How long will it take the rocket to reach its maximum height? b ( =Y & h o
-1 - =
4 seconds |
X=-128 =7 t=|
d. What is the maximum height? 2.(-10)
X= = =pD* + 1280
2506 Peed Y w= =l D
t:} =

V: (Y, 250)

24. The function y = -0.03(x-14)? + 6 models the Jjump of a red kangaroo where x is the horizontal distance in
feet and y is the corresponding height in feet.

WA L ) (14, L)
\
a) What is the kangaroo's maximum height? l P
b £+ - »\
b) How far does the kangaroo jump? 2% _?*_ o (: 3%70\)
25. Multiply (6 - 1)(-2 - 3/) ~12 =12} +2 |+ 2} 2
| =\ -\bi |
i i i
26. Find th tient. , . ' -
in ‘equ01en'.> | (B'H,Xl*'a'k) = LN 424435
a.2+i  (3tYi b. 3+i S Y q, %
Al Latg ) 2-3i (2 -z0( 243 LR
PoAt s
L‘jf_?f'm' =1 2t
qQ-lwiz




